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Physiology

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 630680700089 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The percentage of total blood volume occupied by RBCs is called
Options :

1. ¥ Hemopoiesis

2. ¥ Hematopoietic rate

3. ¥ Thrombosis

4. <7 Hematocrit

Question Number : 1 Question Id : 630680700089 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

RBCs GRT & 3ol & A1 & TR o HET Sl
Options :

1. & JRRSA

2. % Y &

3. 8 YRl

4. Qg HIfRenT AT

Question Number : 2 Question Id : 630680700170 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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‘Which of the following cavities contains the mediastinum?
Options :
1. ¥ Abdominal cavity
2. <7 Thoracic cavity
3. ¥ Pelvic cavity
4

. ¥ Cranial cavity

Question Number : 2 Question Id : 630680700170 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frofarad o & food o1 & $upd HeAaHmT gl 82
Options :

1. ¥ IR &I

2. & 1

3. % i TeT

4. S DU gl

Question Number : 3 Question Id : 630680700251 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following epithelial membranes secrete fluid?
Options :

1. ¥ Mucous membrane

2. 7 Serous membrane

3. ¥ Cutaneous membrane

4

. ¥ Abdominal membrane

Question Number : 3 Question Id : 630680700251 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
e & 4 19 @ uwan fered 5d J1fad X 82

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 376

4/1/24, 3:55 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
Options :
1. ® ToeT et

< Rl et

4. % IR et

w o

Question Number : 4 Question Id : 630680703369 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The spleen is responsible for the removal of old, malformed, or damaged .
Options :

1. ¥ Platelcts

2. @ Lymphocytes

3. <7 Red blood cells

4. % White blood cells

b

Question Number : 4 Question Id : 630680703369 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

wie R, Riga o efora 1 ger & g Rer 31
Options :

1. ¥ WedeH

2. % fompRe

3. < T Yo BIRIBTA

4. % 47 T DIRIDIA

Question Number : § Question Id : 630680700253 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which of the following enzymes are released by the pancreas?
Options :
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<7 Protease

& Pepsin

5

@

Lactase

o

1.
2.
3:
4. <~ Maltase

Question Number : 5 Question Id : 630680700253 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Fraffad # 9 SF 91 ToTsH SR GRI Wifad [6ar S g2

Options :

1. U

2. % OftdH

3.8 :

4. % A

Anatomy

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 6 Question Id : 630680700094 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a fluctuation in the ability to maintain equilibrium and a constant environment within the body.
Options :
1. ¥ Disease
2. ¥ Paralysis
3

©

Nervous disorder
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4. <# Homeostatic imbalance

Question Number : 6 Question Id : 630680700094 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IR & iR g SR T RR AIdIaRUN ST 3@ &1 &dl §f JaR-Igd 81
Options :
1. %3
2. ¥ Y&mdrd
3. % dR®r el fdeR
4. v qAF SRiga

Question Number : 7 Question Id : 630680700096 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which nerves decreases the heartbeat?
Options :

1. 7 Vagus

2. ¥ Facial

3. ¥ Auditory

4. S Optic

Question Number : 7 Question Id : 630680700096 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B DT 5ed B USHT HH B Gl 52
Options :

1.V N

2. 8 39

3. % PR

4. % 3P
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Question Number : 8 Question Id : 630680700176 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which type of neurons are predominantly found in the dorsal root ganglia?
Options :

1. ¥ Multipolar neurons

N

. ¥ Pseudounipolar neurons

b

% Unipolar neurons

»

% Bipolar neurons

Question Number : 8 Question Id : 630680700176 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 19 T & GO U A 59 TeR & diei R o o 82
Options :

1. % Sgydr dBwIReET

2. SIS FHIDIRIT

3. ¥ UhydH dRSIRIST

4. % Ry AR

Question Number : 9 Question Id : 630680703374 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which of the following acts as a neurotransmitter for signalling relaxation of smooth muscle in terms of storage of urine?
Options :

—

. % Acetylcholine
. 7 Nitric oxide

. ¥ Serotonin

AL

. ¥ Adenosine
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Question Number : 9 Question Id : 630680703374 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PRI 78 B T 3 SR 3 T ff FispeT FiaiRg o) RRIerT ol aba 33 b R ReraieR 3 w0 7 e el 82
Options :

1. % uRyfedeifer

2. gfed arss

3. % YRR

4. % TSRS

Question Number : 10 Question Id : 630680700098 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The portion of the conjunctiva, upon the sclera, that is loosely connected to the bulb of the eye is called
Options :

1. ¥ Palpebral Conjunctiva

2. <7 Bulbar Conjunctiva

3. ¥ Fomnicular Conjunctiva

4. ¥ Plica Semilunaris

Question Number : 10 Question Id : 630680700098 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AqUTH TR A BT 98 U, o offE & Ied FRAAEIISIdae, . Feramars)
Options :

1. ¥ P A

2. BER FARaar

3. % HIHHeR e

4
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Demography and common health statistics

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 11 Question Id : 630680700259 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Population growth that is unlimited by resource availability, which allows the population growth rate to increase continuously over time is known
as

Options :

1. ¥ Logistic growth

2. </ Exponential growth
3. ¥ Limiting factor

4. ¥ Carrying capacity

Question Number : 11 Question Id : 630680700259 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SRS gfg S el Bt Sueal 3 SR 8, Sl T & I S 3 & B AR JeA o SAfd Sl g 30 B wuH
SIEISSIGIE

Options :

1. % QIRe faerg

2. U hg

3. % HIfd PRS

4. @ gg- &Hdl

Question Number : 12 Question Id : 630680700180 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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‘Which of the following contraceptives has been recently added to the existing basket of choices?
Options :

—_

. 7 Injectable contraceptive

. ¥ Oral contraceptive pills

©

2
3. € Vasectomy
4

Tubal ligation

Question Number : 12 Question Id : 630680700180 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PR 3 8 1 MR g € § R ¥ e g T e mre:
Options :

1. SoEesa T RIE®

2. % Tifge® RIS mierat

3, % 39 Agad]

4. ® fEarig-ded

Question Number : 13 Question Id : 630680700261 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
is a sudden increase in number of individuals in a specific area at a given time.
Options :

. ¥ Limiting factor

2. ¥ Carrying capacity

3. 7 Population Explosion
4. % Pollution

Question Number : 13 Question Id : 630680700261 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Tt fftya T  forelt fafli & o aaferall &t W 7 s/ gfs 31
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Options :
1. % Hiffrd R

% g &

. SrEET fawpie

b ng'l]'[

E SN

Question Number : 14 Question Id : 630680700262 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

is the number of new cases (or deaths) occurring in a specified population per year, usually expressed as the number of cases per 100,000
population at risk.

Options :
1. ¢ Crude rate
. ¥ Mortality rate

[N

¥ Standardized rate

>

% Limiting factor

Question Number : 14 Question Id : 630680700262 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
U 7 ves FAfEY SR & g1 ardl U Tl (@ §e) @ OB §, T SR W Ui 100,000 SHRRSAT UR SHRAH aTel ATH &t
T P U H e fopar S
Options :
L VREAR
2. 8 G
3. ¥ YH®BIPd &
4. % Hid RS

Question Number : 15 Question Id : 630680703379 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
How is Total Fertility Rate different from the Gross Reproduction Rate?
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Options :
1. ¢ TER is the number of children born to a couple, GRR is the number of female children born to a woman in life time.
2. ¥ TFR includes immigration rate while GRR does not
3. ¥ TFR includes mortality rate while GRR does not
4

. ¥ TFR measures fertility within spccific age group while GRR considers overall fertility

Question Number : 15 Question Id : 630680703379 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

G Tl &x Tohd Uoi &X I frd UaR R 82

Options :

1. TFR T IS § YT gU S & 1 8, GRR TP A 9 Sfia R 7 e g3 Afgen 9= &) G.m gl
2% TFR ¥ 3MTgei o= A ¢ Wafd GRR A &1 §

3. % TFR & g X 2MA § & GRR & g

4, % TFR fafRrg 3mg o & iaR USTH &FdT ) ATIT & STefd GRR TH USHH & a1 R R &3l 3

Community Health, Epidemiology and Disease Prevention

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 16 Question Id : 630680700104 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In February 2018, the Government of India announced the creation of Health and Wellness Centres (HWCs) by transforming the existing
Sub Centres and Primary Health Centres.

Options :
1. ¥ 150
2. % 1,500
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3. % 15,000
4.7 1,50,000

Question Number : 16 Question Id : 630680700104 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

onmﬁ,wwﬁﬁwwﬁﬁm@wﬁﬁw R 3R FI H5 (HWCs) FH P o
|

Options :

1. ¥ 150

2. % 1,500

3. % 15,000

4.7 1,50,000

Question Number : 17 Question Id : 630680700107 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a component of epidemiological triad?
Options :

1. ¥ External agent

2. <7 Internal agent

3. ¥ Susceptible host

4.

% Environment

Question Number : 17 Question Id : 630680700107 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

e 7 3 @19 91 HerR) a9 7 &1 uee 78l o2
Options :

1. % Sl TS

2. 3RS Tole

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 13/76

4/1/24, 3:55 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
3. % IS UIvh
4. % qEiRo

Question Number : 18 Question Id : 630680703382 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What services does the Government of India provide to pregnant woman, under the Janani Suraksha Yojana?
Options :

1. ¥ Subsidized vaccinations for newborns

2. ¥ Free ambulance services for hospital visits

3. ¢/ Financial assistance regardless of the mother's age

4. ¥ Free antenatal check- ups at home

Question Number : 18 Question Id : 630680703382 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST GR&T ST & Sfaid YR IRBR Tach Afge o) Fl- HaTd UeH ol 82
Options :

1. ¥ 7gurrd Rgsft & fore afstegss e

L8 ST o & fere e Trgele dand

./ Il 1 g b A H forg T fowfia dgraan

. % R F:3ew goaqd sifg

AL N

Question Number : 19 Question Id : 630680703383 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The study of distribution of health related events, states, determinants and processes in specified populations is called
Options :

1. ¥ Anthropology

2. </ Epidemiology

3. ¥ Infection biology

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 14176
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4. % Pathology

Question Number : 19 Question Id : 630680703383 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

iy smardt & wrea Ted gerel, Rufil, RuRet ok nitranait & famo & sroma &1 CHEIGI
Options :

1. % 7a fagm

2./ HEMR] fawm

3. & HpHUT Silg

4. @ fogr Qiervelt

Question Number : 20 Question Id : 630680700188 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
aims to prevent a disease from ever occurring by targeting population in healthy individuals.
Options :

—

. 7 Primordial prevention

°

Primary Prevention

2
3. ¥ Secondary prevention
4

b

Tertiary prevention

Question Number : 20 Question Id : 630680700188 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BT I T AT H SIS T A P [hd! SR o B+ 781 I A8l

Options :

1. 2 SRMBH AHYH

2. % Ui AHYM

3. % WIS AHYM

4. ® qdige ABYH
https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 15176
4/1/24, 3:55 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

Maternal Health Pregnancy and Childbirth

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 21 Question Id : 630680700269 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

hormone levels found in the mother's blood and urine rise a lot during the first trimester, and it may play a part in the nausea and
vomiting often linked to pregnancy.

Options :

1. ¥ Qestrogen

2. ¥ Progesterone

3. 7 Human Chronic Gonadotropin hormone
4

. ¥ Prolactin

Question Number : 21 Question Id : 630680700269 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

el famTel & SR AT % o SR 9 H UL o ard) BT 6T TR 9gd 96 o1l €, SR I8 SaR THiawT & &) Aadt ¢k
It & yftremt R aFar 81

Options :

1. % TEIH

2. % U

3. < T HIfFS THISICIA gHH
4. % Tiaife
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Question Number : 22 Question Id : 630680703386 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The __ hormone is involved in softening and remodelling the cervix and the uterine segment during pregnancy.
Options :
1. %7 Relaxin
2. ¥ Insulin
3. ¥ Thyroxinc
4. % Prolactin

Question Number : 22 Question Id : 630680703386 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g TR & SR THRR Wt SR TUTRE TS BT R SR A B & JHd gidl o
Options :

1. v Ratf
2.

3. 8 YA
4.

Question Number : 23 Question Id : 630680700111 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following stages starts when labor begins and ends with full cervical dilation and effacement?
Options :

. <7 First stage

—_—

2. ¥ Second stage
3. ¥ Third stage
4. % Fourth stage

Question Number : 23 Question Id : 630680700111 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
IR & § 19 91 TR0 74 X[ gidT ¢ o U9d UTeT IR gt & 3fR gof mufery ey Sare oik faeiios & ary s giar 82
Options :
1. < UYH RO[
2. 9 QIR =R
3. % AR =R0
4. % TR

Question Number : 24 Question Id : 630680700112 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
measurements reflect resistance to blood flow from the fetus to the placenta.
Options :
1. ¥ Ectopic pregnancy
2. 7 Umbilical artery Doppler velocimetry
3. 8 Ultrasound

4. ¥ Cornual pregnancy

Question Number : 24 Question Id : 630680700112 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
79 01 § 1 I Iod UdIE & UfaRiy &l gid § 1
Options :
1. % SRRATFTP THIGRIT
2. < g YwH STER il
3. % IXNES
4. % spftmefar

Question Number : 25 Question Id : 630680700115 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :
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In type of ectopic pregnancy, the implantation occurs in the cavity of a rudimentary horn of the uterus, which may or may not be
communicating with the uterine cavity.

Options :

1. ¥ Cervical pregnancy

2. ¥ Caesarean scar pregnancy
3. ¢/ Cornual pregnancy

4. % Interstitial pregnancy

Question Number : 25 Question Id : 630680700115 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

mﬁﬁwﬁwﬁn@nﬁ,w@wn@m% ST Rid T o T[eT T giaT 3, S THTRRT 8T & 1Y TR ) H b
I

Options :

1. % Tarwmfar

2. % R R amfar

3. st mefar

4. % SfaRTelg efar

Question Number : 26 Question Id : 630680700273 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
How frequent breastfeeding is required in the case of exclusive breastfeeding?
Options :

—_

. % Every 15 mins
2. <7 Every 2-4 hours
3. % Every 8 hours

4. S Every 24 hours

Question Number : 26 Question Id : 630680700273 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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a0 WHIH & AW 7 o IR WM B S1awgehdr gl 82
Options :
1.8 g5 e
2./ g2-4UCH
3@ geHeH
4. % gI24WC

Question Number : 27 Question Id : 630680703390 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following should be avoided during exclusive breastfeeding to prevent potential harm to the infant?

Options :

1. ¢Z Consuming excess amount of alcohol

2. % Introducing solid foods after 5 months

3. ¥ Drinking plenty of water
4

. ¥ Taking prescribed medicine

Question Number : 27 Question Id : 630680703390 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

TRy 1 HTfa JeaH & F9 & T Shad WAaH & SR FafaRed & 3 frad o @fge
Options :

1.« 3% AET H IR &1 Aaq

2. % 5 HEH & §1E 31 SR 31 Y XAl

3. % g U d

Question Number : 28 Question Id : 630680700117 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is not a common characteristic of a newborn?
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Options :
1. ¥ Large head with short arms and legs
2. ¥ Narrow shoulders and hips
3. <7 No Abdomen
4

. % Downy unpigmented hair called lanugo

Question Number : 28 Question Id : 630680700117 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

e & & S 91 Taord RIg) &1 AR w82
Options :

1. ¥ BIREY AR W F Y TSTRR

2. % gaiof &9 ok Feg

3. Flg YT gl

4. % YA 3R 91 o8 Ygaid Hg1 ol §

Question Number : 29 Question Id : 630680700196 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which intervention is essential for preventing surgical site infections in infants following childbirth- related procedures?
Options :

1. %7 Administration of prophylactic antibiotics

o

Delaying wound dressing changes to avoid disturbing the surgical site

2
3. ¥ Application of tropical antiseptics
4

°

Limiting infant's movements to minimize contamination

Question Number : 29 Question Id : 630680700196 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
D I gAY Ta Aeeht wftranell & are Rl # wreafufecs Ria SHHu &l Ad & U siawad 82

Options :
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1. IR Cariifes &1y
2. % Yreafuftrce R fAes a9 I g5 & (A8 919 31 SR & e
3. & RN CCRE 1 Suan
4. % WYV B T R 3 Ry R AR 1 o e

Question Number : 30 Question Id : 630680700278 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is not a part of nursing management for the prevention of disease transmission in kids?
Options :
1. ¥ Isolate children with suspicious rashes and respiratory infections
2. 7 Leave draining wounds open to dry
. % Recall that the fecal-oral and respiratory routes are the most common routes of transmission in children

3
4. % Wipe down hard surfaces in the examining room with an antiseptic solution before another child uses the room

Question Number : 30 Question Id : 630680700278 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

o & 9 o a1 gl & A0 R &) At & forg AR veed &1 fewan gt &2

Options :

1. % e o SR 4T YehHUT AT Sl T ST Y

2. 3(UAIE UIel B gEn & R gar o &

3. % O1g @ 5 Ter-Afee SR 4o Anf ol & TeRvr & W o Wl §

4. % fordl o T & HHR BT SUART B U Ugd WG H&f § HOR ds! & (DS AIeg=H 9 Ui o

Child health and Nutrition

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
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Is Section Default? : null

Question Number : 31 Question Id : 630680700119 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following principles states that the child gains control of the head first, then the arms and then the legs?
Options :

1. ¥ Development proceeds from the centre of the body outward

2. ¥ Development proceeds from the simple to the more complex

3. «/ Development proceeds from the head downward
4

. ¥ Growth and development is a continuous process

Question Number : 31 Question Id : 630680700119 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

fafafad § 4 o1 o Rigid s § [ a@ vea RR, R g1 8l O OR1 o e giftre @l o2
Options :

1. % AP IR & F5 A IR I AR T8

2. % foPra WA ¥ offtw dfed 3 iR dgar s

3. v P RRI TR o siRggars

4. % gfg vd AP ue Gaq uisar g

Question Number : 32 Question Id : 630680700121 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘Which of these is not a factor affecting growth and development?
Options :

—

. ¥ Heredity

2. ¥ Nutrition

3. ¢/ Physical Appearance
4. ¥ Hormones

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 2376
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Question Number : 32 Question Id : 630680700121 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 B 91 9 SIR I &) nuifad B3 e HRS a1 87
Options :

1. % 4RI

2. % O

3.  Hifde IuRyfd

4

o>
«

Question Number : 33 Question Id : 630680700201 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A child is admitted with dehydration due to gastroenteritis. Which parental- nursing care action is a priority during the child's hospitalization?
Options :

1. ¥ Allowing the child to rest uninterrupted

2. ¥ Providing a variety of snacks for the child to choose from

3. ¥ Encouraging the child to engage in play activities

4. <7 Monitoring the child's fluid intake and output

Question Number : 33 Question Id : 630680700201 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TRENIZY F HRUT FASTelenRul T IR U I &1 ol B a1 8| 9= & SRuara 8 Yl 819 & SR &1 W [rar-Rar-aRkfn g
PRATS BT AU &) St 82

Options :

1. © o= B el SR B &

. % §=d B g & T faftrs YR & A1Rd Iudsy S

. % g &) 9 Tafafe) 7 wnfire 819 & g tienfgd 1

 §E & WA P U 3R 3STYT BT AR T

NNV
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Question Number : 34 Question Id : 630680700280 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The normal chest circumference for a newborn is usually than its head circumference.
Options :

1. %2 cm less

2. ¥ 2 cm more

3. ¥ 4cmless

4. % 4 cm more

Question Number : 34 Question Id : 630680700280 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TatTd RIg &1 WA STt Bt IR SR IR S9P RR ST ARy g gl
Options :

1.2 ecmPH

2. % 2 cm AP

3. 8 4em PH

4. % 4 cm AAH

Question Number : 35 Question Id : 630680700203 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What indicates that a baby may be ready for chewing and gumming semisolids?
Options :

1.+ Hardening of gums and eruption of teeth

2. ¥ Excessive crying during feeding

3. ¥ Decreasc in appetite
4

. % Increase in drooling

Question Number : 35 Question Id : 630680700203 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

T S0 FHRa § % U o= Srefa ugref 99 8iR e o fort duR g wehdn 82

Options :
1. v YS! 1 G%d BT 3R il 1 Fder
2. % gy TUdTd quy 3ffers I
3.8 Y@ i e
4. ¥ ARAIS

Immunization
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 36 Question Id : 630680700205 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which component of vaccines is responsible for stimulating the body's immune response?
Options :

1. ¥ Adjuvants

2. ¥ Preservatives

3. ¥ Antibiotics

4. </ Antigens

Question Number : 36 Question Id : 630680700205 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pl BT HIF 1 9o TRR 1 UiRaT ufifsrar &1 Ifor w3 & fe Smer 82

Options :
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Question Number : 37 Question Id : 630680700284 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A graft between individuals from different species is called
Options :

1. ¥ Autograft

2. ¢ Xenograft

3. ¥ Allograft
4

. 9 Isograft

Question Number : 37 Question Id : 630680700284 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafte ystiadl & safdedl & s I &1 EHE IR
Options :

1. i

2. </ S

3. & 3T

4. 8 IIHRITHE

Question Number : 38 Question Id : 630680700126 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a live attenuated viral vaccine?
Options :

1. ¥ Salk Polio vaccine

https://g086.tcsion.com/CAE/viewHtmIPDFAction.action 27176
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2. ¥ Hepatitis B Vaccine
3. ¥ Hepatitis A Vaccine

4. <7 Rotavirus Vaccine

Question Number : 38 Question Id : 630680700126 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frafefed & Q@17 91 ge siifad afior araRe e g2
Options :

1. ® BCG el

2. © gUergied B i

3. % gUcrsicy A At

4. <7 ey <l

Question Number : 39 Question Id : 630680700286 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following autoantigens is responsible for multiple sclerosis?
Options :

—

. ¥ Acetylcholine receptor
2. ¥ Rh blood group

3. % snRNP

4. &/ Myelin basic protein

Question Number : 39 Question Id : 630680700286 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafifad & S @l sggd sife & fou R &2

Options :
1. % TReRadIeed REpR
2. ¥ Rh K 98
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3. % snRNP

4. <7 ARRA gA WA

Question Number : 40 Question Id : 630680703405 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

__ type of hypersensitivity reaction is most commonly associated with immediate allergic reaction to immunization.
Options :

1. ¥ Typell

2.+ Type |

3. ¥ Type IV

4. S Type 1L

Question Number : 40 Question Id : 630680703405 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

TR 3! sifauideT=iedr ufafihar SR TR AdTenRu & Ui debTa Tersif Ui ar 9 Sl gl 8l

Options :

1. 8 C3UlI

2./ 28Ul

3. 8 TRUIV

4. ¥ <Y I

Adolescent health

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null
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Question Number : 41 Question Id : 630680700210 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following assessment tool is commonly used to evaluate an adolescent's intellectual functioning and cognitive abilities?
Options :

. ¥ Rorschach Inkblot test

—

2. 8 Thematic Apperception Test
3. ¥ Minnesota Multiphasic Personality Inventory (MMPI)
4. <7 Wechsler Intelligence Scale for Children (WISC)

Question Number : 41 Question Id : 630680700210 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

iR & § fora Yeaie- IUHRUN BT ST IR R o fhiR &) Afge Hrivome iR TAeS emrsl 1 Teaid o= &
fomu o wmen 82

Options :

1. 8 Axfe Shadie e

2. % D JUGE G0

3. % e A R T 3aedt (MMpl)

4. 7 S} & oY JReER ST W d (WISC)

Question Number : 42 Question Id : 630680703407 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

In adolescents sex hormones may influence pain in abdomen. is the assessment of abdomen for any abdominal tenderness, abdominal
masses.

Options :

1. ¥ Percussion
2. % Inspection
3. </ Palpation
4

. ¥ Auscultation
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Question Number : 42 Question Id : 630680703407 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

R A e e A e I UMd IR TBa gl I ! [l ot TreaeT, 35 7 & o T &7 Siiaer 3
Options :

1. ¥ 3frerd

2. % e

3. v SRiuar

4. % gaur e

Question Number : 43 Question Id : 630680700292 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

‘Which of the following is not a nutritional need for adolescents?
Options :

1. ¥ Iron- rich foods

2. ¥ Vitamin C

3. <7 Acrated drinks

4

. ¥ Calcium

Question Number : 43 Question Id : 630680700292 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
e & 3 S PRt 3 Rt Heed srazaea T2l 82

Options :
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Question Number : 44 Question Id : 630680703408 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The primary pharmacological intervention used to manage opioid addiction and prevent withdrawal symptoms along with cravings?
Options :

1. ¥ Disulfiram

b

2 Methadone
3. ¥ Naloxone
4. <7 Buprenorphine

Question Number : 44 Question Id : 630680703408 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

SNTNES P o7t I Yalerd B TR SATer 3 A1y Facd daun Bl A & e o wrufires Shweiiy gdad 1 IudiT faar S 82
Options :

1. & SEUhH

2. 8 AYESH

3. % il

4,  FHAIGA

Question Number : 45 Question Id : 630680700213 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following government department is responsible for implementing the Rashtriya Kishor Swasthya Karyakram (RKSK) in India?
Options :

1. ¥ Ministry Of Defense

2. < Ministry of Health and Family Welfare

3. ¥ Ministry of Finance
4

o

Ministry of Education

Question Number : 45 Question Id : 630680700213 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks :

FAfRed 9 S O RSR FTHTT YR 7 1P [HRIR W SIiHH (RKSK) BT AN B & (T RgR 82

Options :
1. ¥ & HATY
2. ¥ WA T4 URAR STl HAed
3. % favr HaTe
4. % TRen wATe

Family Planning
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 46 Question Id : 630680700134 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a cause of male infertility?

Options :

1. ¥ Problems with ovulation, such as irregular or absent ovulation

2. ¥ Endometriosis

3. ¢/ Hormonal disorders leading to abnormalities in hormones produced by the pituitary gland, hypothalamus and testicles
4

. ¥ Follicular disorders

Question Number : 46 Question Id : 630680700134 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T ¥ § S1F 91 q3Y aRad T PRI 32

Options :

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 33/76

4/1/24, 3:55 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
1. % fEaeru I S wrwt, oY g a1 orufd fEaerur
2. ¥ SRR SR
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4. @ B @R

Question Number : 47 Question Id : 630680700137 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an example of hormonal method of a contraception?
Options :

1. ¥ Implant

>

b

2. € Skin patches
3. % Vaginal rings
4. / Diaphragms

Question Number : 47 Question Id : 630680700137 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
fFRafaRad 7 9§ &1 @ MR 3 gl Al o1 e T8 82
Options :

1. & YIRIGu

2. % TP Y>sy

3. 8 A% B

4. 7 SIABH

Question Number : 48 Question Id : 630680703413 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the mechanism action involved in female sterilization through tubal ligation?
Options :

1. ¥ Thickens cervical mucus
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2. < Blocks fallopian tubes
3. ¥ Blocks sperm from entering the uterus

4. «~ Prevents ovulation

Question Number : 48 Question Id : 630680703413 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TEeranfeeit sier & Hiesm § Afgen Fesicl # 2 o fobar @ g2
Options :

1. % 9T SATH P T Hdl &

2. AT e & sild B aT e

3. % BT B THIRE T Ja=1 3 A AHdl §

4. % TE9eRU B Al §

Question Number : 49 Question Id : 630680703414 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

__hormonal contraceptive method involves applying a patch to the skin that releases hormones through the skin into the bloodstream.
Options :

1. ¥ Subdermal implant

2. ¥ Contraceptive ring

3. 7 Contraceptive patch

4

. ¥ Birth control shots

Question Number : 49 Question Id : 630680703414 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ gEtHa R fafd o @ar R v T @ i g g S dl & A1 | aquarg J g okl $Rar gl
Options :

1. % FgSH AR

2. & TFRIYS qer
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Question Number : 50 Question Id : 630680700218 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

__ isareversible form of male contraception similar to sterilization.
Options :

1. ¢ Vasovasostomy

2. ¥ Vasectomy

3. % Epididymectomy

4

. ® Testicular implantation

Question Number : 50 Question Id : 630680700218 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
THE & 90 ges RIS &1 U@ uidadi w9 31

Options :

1.  ehallgdblesad
2.

3. % giugiteawTH
4.

Common Communicable diseases

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null
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Question Number : 51 Question Id : 630680700140 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which mosquito causes yellow fever?
Options :

1. 7 Aedes

2. ¥ Anopheles

3. % Culex

4, ¥ Mansonia

Question Number : 51 Question Id : 630680700140 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DI 1 TR Gell @R BT BRI G2
Options :

1. VTSI

2. & T

3. % FgUay
4.

Question Number : 52 Question Id : 630680700299 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which of the following bacteria causes plague?
Options :

1. ¥ Escherichia coli

b

2. < Salmonella typhi
3. ¥ Pscudomonas acruginosa
4

. 7 Yersinia pestis

Question Number : 52 Question Id : 630680700299 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
frafad & & HIF 91 a1y WHT ST HRUT Sl 62
Options :
1. ¥ SRRABA Prems
& QI g
v i ot

ESESIS

Question Number : 53 Question Id : 630680700144 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a causative organism for typhoid?
Options :

1. ¥ Treponema pallidum

2. 7 Salmonella Typhi

3. € Escherichia coli

4. ¥ Pscudomonas acruginosa

Question Number : 53 Question Id : 630680700144 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FrafdRed ¥ 4 S TRBIES &1 SRS o1d 62
Options :

1. & 2w afersw

2. </ AT ST

3. ¥ gERifGaT B

4. % YISHHN TSRHNT

Question Number : 54 Question Id : 630680700224 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :
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is a characteristic symptom of paralytic polio.
Options :
1. ¥ Skin rash
2. ¥ Watery diarrhea
3. ¢/ Muscle weakness or paralysis
4. ¥ High fever

Question Number : 54 Question Id : 630680700224 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ ASHand iferdl &1 U fafkiy der g
Options :

1. % A& gl

2. % Uad &

3. ARG § SHSRI 91 g&mard

4. % AU GER

Question Number : 55 Question Id : 630680700303 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a food-borne disease?
Options :

1. ¥ Liver cirrhosis

2. ¥ Peptic ulcer

3. <7 Stomach flu

4. ¥ Gastric ulcer

Question Number : 55 Question Id : 630680700303 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Fraffad & 9 19 @R 9 a T E?
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Options :
1. % diR RRIRE
2. % g STER
3./ UCHIH]
4. S SHRE 91

Question Number : 56 Question Id : 630680700305 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following viruses causes smallpox?
Options :

1. ¥ Parvovirus

2.9 Reovirus

3. ¥ Togavirus

4. <7 Variola virus

Question Number : 56 Question Id : 630680700305 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFafafad T 4 o 91 Ry 996 &1 SR ST 82
Options :
1. ¥ UdEERE
2. ¥ QHTaET
3.
4, v RGO IERE
Question Number : 57 Question Id : 630680703420 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :
toxin is associated with paralytic shellfish poisoning.

Options :
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1. ¥ Aflatoxin
2. <7 Saxitoxin

3. ¥ Botulinum toxin

4.

% Ricin

Question Number : 57 Question Id : 630680703420 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
oy awanra dien foweqar S 8181
Options :

1. % ORAeliag

2. v Sfdqeiaa

3. ¥ igfer Tiea

4.« RR¥A

Question Number : 58 Question Id : 630680700146 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘Which of the following is a causative organism for whooping cough?
Options :

. 8 Varicella-zoster

2. <7 Bordetella pertussis
3. ¥ Salmonella Typhi
4

. % Treponema pallidum

Question Number : 58 Question Id : 630680700146 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
FrafiRed 7 & o ol @il o1 FRS fa 82
Options :

1. ¥ Y-SR
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2. FrS o Ul
3. ¥ gl eigHl

Question Number : 59 Question Id : 630680700226 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How long is the standard course treatment for drug- susceptible tuberculosis?
Options :

.7 6 months

—

2. % 2 years
3. % 2 weeks
4

.8 [ year

Question Number : 59 Question Id : 630680700226 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SAI-AERI &R & U SUER &1 A B b 99 BT 52
Options :

1.7 6 g

2.8279

3. 9 298

4. %199

b

Question Number : 60 Question Id : 630680703424 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following STI can lead to reactive arthritis as complication?
Options :

1. ¥ Syphilis

2. ¥ Genital herpes

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 4276

Page 21



4/1/24, 3:55 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
3. % Chlamydia

4. ¥ Both Chlamydia and Gonorrhea

Question Number : 60 Question Id : 630680703424 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

fafafad % e g6t SR &1 9g &3 fAgffad & 3 & 91 STI U Sfeadr & ¥u § ufafsarsiia nfdar o1 srRo a9 gea g2
Options :

1. 8 JUy

2. 8 T GIG

3. FaAEfEar

4. % Fmsfear SR MAiRar At

Non-Communicable Diseases

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 61 Question Id : 630680700150 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Anaemia occurs when the blood doesn't have enough
Options :

1. ¥ Plasma

2./ RBCs
3. % WBCs
4. = Platelets

b

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 43/76

4/1/24, 3:55 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 61 Question Id : 630680700150 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TSl ad il § ofd Xad | v TRl g gl
Options :

1. 8 Sildgsd

2.+” RBCs

3. ¥ WBCs

4. % Wiy

Question Number : 62 Question Id : 630680700231 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ___ part of the eye is primarily affected by diabetic retinopathy.
Options :

1. ¥ Lens

2. ¥ Cornea

3. ¥ Optic nerve

4, <7 Retina

Question Number : 62 Question Id : 630680700231 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

dfE®d UMTHEIwY d srfafed Metd & nufga giar g1
Options :

1L.2d

2. % 9FUed

3. % g dbier

4. </ gyued
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Question Number : 63 Question Id : 630680700310 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following types of anaemia is from red blood cells being destroyed faster than bone marrow can replace them?
Options :

—

. 7 Hemolytic anaemia
2. ¥ Sickle cell anaemia
3. < Aplastic anaemia
4

. ¥ Iron deficiency anacmia

Question Number : 63 Question Id : 630680700310 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 A ¥ 5T USR &7 Iad1eddl 1d 3ad SHIRIGIST J GiaT § S S A 6 o o ool 9 78 g1 ol g 2
Options :

1. 7 el SReTdl

2. 8 Tyebel YT ST

3.8 SIRed THITHAT

4. S IR YIS RN

Question Number : 64 Question Id : 630680700235 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Rheumatic heart disease results from damage to
reaction to throat infection with group A streptococci.

Options :

caused by one or several episodes of theumatic fever, an autoimmune inflammatory

©

1. 8 Walls between hearts chanbers
2. ¥ Blood vessels to heart muscles
3. ¥ Heart muscles
4

. 7 Heart valves
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Question Number : 64 Question Id : 630680700235 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

ST & T SHAN §8R & U U1 g UDHRUN b RO B &fd F URUITARGREY BIdl §, St 99g T RBISaD! & A1 T &6
Tepwor F o ueh Twferelt gur ufafehan 81

Options :

1. % el @ SR & dig @l <R

2. % U I HiGURE de ad aifes1d

3. % geg o AruREf

4./ g died

Question Number : 65 Question Id : 630680700312 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of blood cancer?
Options :

1. ¥ Colon cancer

2. ¥ Rectal cancer
3.

4. <7 Lymphoma

&

Small cell lung cancer

Question Number : 65 Question Id : 630680700312 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fraffed & & S O1 o HIR F1 76 TR §2
Options :

1. QB HW

2. % HARK & HW

3. ¥ Y DIRG FEHET R

4./ TEIDIgE
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Question Number : 66 Question Id : 630680700314 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
also known as a seizure disorder, is a brain condition that causes recurring seizures.
Options :

—

. <7 Epilepsy
2. ¥ Stroke
3. ¥ Fluorosis
4. ¥ Cancer

Question Number : 66 Question Id : 630680700314 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
BIGR & faPR F T4 H Hf 1 911 §, 98 U AR &t YR § S aR-SR SR &1 SRUT & g
Options :
1. Tl
2. % 3HId
3. 8 RIRIRE
4.8 FWR

Question Number : 67 Question Id : 630680703429 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The genetic mutation of which genes are commonly associated with hereditary breast and ovarian cancer?
Options :

1. ¥ TP53

2. 8 EGFR

3.+ BRCAI and BRCA2

4. % KRAS

Question Number : 67 Question Id : 630680703429 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
for oA 1 STafRier SaRade SR TR IR W SR fSTaiif ¥R 9 Je1 8iar 82
Options :
1. ¥ TP53
2. ¥ EGFR

3.7 BRCAI 3IR BRCA2

4

<

.~ KRAS

Question Number : 68 Question Id : 630680700237 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Which among the following is the most prone to iodine deficiency disorders?
Options :

1. ¥ Urban centers

2. ¥ Agricultural belts

3. %7 Mountainous regions

4

. ¥ Plateau regions

Question Number : 68 Question Id : 630680700237 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fafdiiad 7 3 fogd IS Bt ol 9§ g ard [APRT P HHTE Hedl Sl 52
Options :

1 % IR

2. % PN

3. T4 &5

4. % UoRI &7

Question Number : 69 Question Id : 630680700318 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
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A BMI of or more in adults is defined as Obesity.
Options :
1. %20
2.8 25
3.¢30
4.9 40

Question Number : 69 Question Id : 630680700318 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Eursa kel BT BMI AT S B HieTd & T4 & TRy far T g
Options :

1. %20

2.825
3. 30
4. % 40

Question Number : 70 Question Id : 630680703435 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is form of malnutrition characterized by deficiency of protein and calories leading to visible wasting of muscle and subcutaneous fat.
Options :
1. ¥ Rickets
2. % Anemia
3. %7 Marasmus
4

. ¥ Kwashiorkor

Question Number : 70 Question Id : 630680703435 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
_ PUNUHI TS Y § O WEH iR Sart &1 S g1k @ R Al ik a9e % i 31 a1 T e s Sarg|
Options :
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National Health Programs

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 71 Question Id : 630680700159 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The NACP Phase-V aims to reduce annual new HIV infections and AIDS-related mortalities by by 2025-26 from the baseline value of 2010.
Options :

1. ¥ 50%

2. % 60%
3.7 80%
4. % 100%

Question Number : 71 Question Id : 630680700159 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NACP ROV &7 AT 2010 B SATYRYT T ¥ 2025-26 AH AP T HIV FHAT AR AIDS- GERATI R P dH A BTG
Options :

1. % 50%

2. % 60%

3. 80%
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4. % 100%

Question Number : 72 Question Id : 630680700239 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
What is the significance of the term 'PPTCT", in the context of the National AIDS and STD control programme?
Options :

¢

1. ¥ Public Partnership for Tuberculosis Control and Treatment
. ¥ Public Partnership of Tuberculosis in Children and Teenagers

<

2
3. ¢/ Prevention of Parent to child Transmission
4. ¥ Post- Primary Tuberculosis Control and Treatment

Question Number : 72 Question Id : 630680700239 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP AIDS 3R STD FH30 Frefen & He H PPTCT ek 1 31 e 82
Options :

1. % & I g S8R IUER & R grdee urfier

2. % §1 3R [HRIRT H &1 A0 ! Ardeii-ep HifarRt

3. <7 AU A S § H=R0 6 AhYUH

4. % URE- UTfie & 30T g0 SR SUER

Question Number : 73 Question Id : 630680700165 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following programmes was renamed as National Iodine Deficiency Disorders Control Programme (NIDDCP) in August 1992?
Options :

1. ¥ Salt Iodisation Programme in India

. ¥ National Goitre Control Programme (NGCP)

. ¥ Nutrient Deficiency Control Programme

w N

4. ¥ National Tobacco Control Programme
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Question Number : 73 Question Id : 630680700165 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST 1992 | T # I 53 SRihH BT A1 S5 AP SIS ieddl [deR FH01 HRIGH (NIDDCP) HR a1 T/

Options :

1. 8 YRT T 70D ARSI PRIGH

2. 7 TP Ul TG0 HRHH (NGCP)

3. 8 UI9e dcd HHI =0 SRl A

4. % P qHEIG A0 SRiGH

Question Number : 74 Question Id : 630680700245 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
What is the purpose of Regulation 2.3.12 of the Food Safety and Standards (Prohibition and Restriction on Sales) Regulation, 2011?
Options :

1. ¥ Regulate the sale of non- iodized salt for direct human consumption

I3

. ¥ Regulate the sale of iodized salt for direct human consumption

bed

2 Ensure the availability of adequately iodized salt for human consumption

% Promote the sale of common salt without iodization

g
$

Question Number : 74 Question Id : 630680700245 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR TR&M 3R AFD (&ept IR ey 3R ufader) fafamm, 2011 & i 23 2 T SEmwn €2
Options :

1. ¥ Tge] Ad SUHIT & g TR-Smdgad T @t [t @) fafafia s

2. U HIHd FUURT & 1T SRS god A0S &1 [deh! ! (A id B

3. ¥ HHd JUHNT & o0 Gt SIS gard THS bl SUTedl AT H

4. % {81 TSI 91 W1ek FHD b1 feish! b1 ggrar a1
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Question Number : 75 Question Id : 630680700246 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which vaccine was developed entirely within India and is aimed at preventing cervical cancer?
Options :

1. < Tetanus virus

<3

¢

Influenza Vaccine

©

2
3. ¥ Hepatitis A vaccine
4, <7 Cervavac vaccine

Question Number : 75 Question Id : 630680700246 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DIF A1 DT O R O YR H faw i fasam war un ofk 3T Sea THTRRT Hial & ek &1 id1 32
Options :

1. % ¢TI IRk

2. % FUUST el

3. & gUericd A &1 Aol

4. qata® Ewl

Question Number : 76 Question Id : 630680700323 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

When was the Tobacco Free Initiatives established by WHO?
Options :

1. % 1989

2.7 1998
3. 82002
4. %2014

Question Number : 76 Question Id : 630680700323 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
WHO R 1 o Ued &1 RITH e 1 15 i?
Options :
1. % 1989
2. 1998
3. %2002
4, %2014

Question Number : 77 Question Id : 630680700326 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the National Health Profile 2021, what is the number of beds per thousand population in India?

Options :

1.70.6

2.909
3.9 18
4.9 25

Question Number : 77 Question Id : 630680700326 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

APV AR MPTEE 2021 B TR, HRA H U §IR SIS IR A2 1 4@ fova 82

Options :

.06

209

218

“25

B =

Question Number : 78 Question Id : 630680703441 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The funding pattern for the Pradhan Mantri Swasthya Suraksha Yojana (PMSSY) is .
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Options :

—

. ¥ Funded by private sector
. <7 Jointly funded by the central and state government

% Fully funded by the central government

3

EEIS
¢

©

International donor agency funded

Question Number : 78 Question Id : 630680703441 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

e TR GRET AST (PMSSY) & forg faadior des @1
Options :

1. & Tl & g ot aiftry

2. &% IR I WER §RT ¥gad T ¥ fax iy

3. % QI RE 9 &g WPR gRI [aa Ui

4. % JIeRTgHa e He g e A

Question Number : 79 Question Id : 630680700168 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following is an objective of the National Rural Health Mission?

Options :

1. ¢ To reduce MMR (Maternal Mortality Rate) and IMR (Infant Mortality Rate) to 100/100000 and 30/1000 live births, respectively
2. ¥ To achieve hundred per cent coverage under Oral Polio Vaccine

3. ¥ To control and reduce the prevalence of diabetes
4

. #® To reduce the production and supply of tobacco products

Question Number : 79 Question Id : 630680700168 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fraffed # 9 o a1 gy ardion e B 51 @ sed 52

Options :
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1. MMR (g 5 &) 3R IMR (R TG &) F1 HA: 1007100000 3R 30/1000 SHAT S 70 FH BT
2. % 3R QIferd! Ep & T8 Acl-UfILId ol UIed bl
3. 8 TYAT & TR B! AR I 3R FH I & g
4. % TG SUTE] & IATGA R ST B HH H B 1e1g

Question Number : 80 Question Id : 630680703444 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : (

What are achievements of the 12th plan (Time period: 2012- 2017) for the five year plans of India?
Options :

1. ¥ Poverty reduction by 10%

2. 8 Establishment of NREGA

3. %7 Establishments of GSTs and launch of National Skill Development Mission

4. ¥ Establishment of NHAI

Question Number : 80 Question Id : 630680703444 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR P! Tl dierrsh & e 12t diomT (@ma 2mafd: 2012- 2017) B JUASET 712
Options :

1. % TR T 10% Pt B

2. 8 NREGA &1 RITGT

3. 7 GSTs B RITTAT AR TP It faomre e &1 oiRmy

4. ¥ NHAI & ROl

General Knowledge

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
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Is Section Default? : null

Question Number : 81 Question Id : 630680700346 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which enzyme is responsible for breaking down complex carbohydrates into sugars during the digestion of food?
Options :

1. ¥ Amylase

2. % Lipase

3. ¥ Protease

4. ¥ Nuclease

Question Number : 81 Question Id : 630680700346 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

IS % U % SR Sied SralerEae Bl TH § die & 1T &IF 1 Gegd RidieR 82
Options :

1. < THISAY

2. % iU

3. % Ui

4, « gl

Question Number : 82 Question Id : 630680700345 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, which of the following articles of the Constitution deals with the appointment of the Governor of a State?
Options :

. 9 Article 153

2. % Article 154

3.V Atticle 155

4. S Article 54

—
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Question Number : 82 Question Id : 630680700345 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR H, Ry &1 Fafafad § 3 o a1 srgwse ol Ied & Isaqurd 31 o 3 Jeft g2
Options :

1. % 3¢ 153

2. % DT 154

3./ 3G 155

4. % IATHE 54

Question Number : 83 Question Id : 630680700352 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘What is the concept of "brand personality" in consumer behavior theory?
Options :

1. ¥ It refers to the physical characteristics of a product.

2. ¥ It denotes the pricing strategy adopted by a company.

3. @ Tt represents the distribution channels used to reach consumers.

4

. It describes the emotional and human-like traits associated with a brand.

Question Number : 83 Question Id : 630680700352 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Il dER Rigid | vsie cafdde o Sfasmon o1 82

Options :

1. % I8 [ e @ Wids faRivarst &1 defifa sxar gl

2. % I8 5T o gRT 30E 18 g FeRor Iorifa & gxifar 31

3. ¥ g IuNIEISH 9% Ugda & fy Iuai forg o et faaRor Sal &1 ufafafia wear g
4. U8 U 518 A IS HIGTTHS AR AF 01 7 90 FRar 8|
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Question Number : 84 Question Id : 630680700349 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Sundarbans, known for its unique mangrove forest, is home to the largest population of which endangered species?
Options :

1. <# Bengal Tiger

2. ¥ Asiatic Lion

3. ¥ One-horned Rhino

4.

o

Indian Elephant

Question Number : 84 Question Id : 630680700349 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Yera, S 3 SHfgdia H7iia a7 3 forg o1 i §, fordr qramm vnifa) o) Wad 9t SIFRieT &l TR 82
Options :

1. /7 TR C3TR

2. ¥ TRER ;W

3. & TP AT aren e

4. % YR greft

Question Number : 85 Question Id : 630680700343 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which socio-religious reformer is associated with the establishment of the Arya Samaj in 1875, promoting the principles of Vedas and opposing
idol worship?

Options :

1. ¥ Raja Ram Mohan Roy
2. ¥ Swami Vivekananda
3. 7 Dayananda Saraswati
4

2

.« Ishwar Chandra Vidyasagar
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Question Number : 85 Question Id : 630680700343 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DI A ATHITD- e RS 1875 H SR TS 1 RGN Y I3 §U 7, S &l & Rl &1 TaR a1 Jfdgs &1 fadey H3di g2
Options :

1. & ISl I Hig 1™

2. & WM fqdere

3. v &gTie qIEadl

4. % SR A% [GERITR

Skill Based
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 86 Question Id : 630680700048 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the steps for the estimation of HB through Sahli’s Haemoglobinometer in the correct order:

A. Ensure cleanliness and dryness of the hemoglobinometer tubes and pipette.

B. Fill the hemoglobinometer tube with N/10 HCI up to its lowest mark (2 g% or 10%) using a dropper.

C. Draw blood up to the mark in the Sahli’s pipette (20 pl), wipe off excess blood, and transfer it to the N/10 HCl in the haemoglobin tube.
D. Allow it to sit for 10 minutes for complete haemoglobin to hematin conversion.

E. Add distilled water drop by drop, stirring until the color matches the standard glass of the comparator.

F. Read the haemoglobin concentration at the lower meniscus, providing the concentration in 100 ml of blood.

Options :

./ ABCDEF

2. ¥ AFDCEB

3. ¥ FEADCB

4. ¥ DCEFBA

—

$
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Question Number : 86 Question Id : 630680700048 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o & GHERaNaHIHICY & HIEHH ¥ HB & S a & daRUIl &) Fgl hH 1 ZaRyd o

A. rafeIeR oE ok e 3t 9wTE SR Ismar gRfda )

B. T SIIR B1 STINT P GRS &l Pl N/10 HCl ¥ Db gy (A= (2 1% a1 10%) 0o 1R |

c. i & i (20 pi) B A= 9% Y90 Wi, sifafvad ad &1 Uig o, SR 38 ganaifed ogd # N/10 HCL B RIFiaRd &1
D. Hqul §iHrdife S gifed ¥ agaq & R 3 10 fiFe ad /A &)

E. 3d 50 &1 §5-4& b SN, feard I8 od dab b 1 qafa & e fiemy 3 ad = @1 o

F. Faa A9 R SRS THRIdl Ue, 100 ml Xad J THIIT U&H HRb |

Options :

./ ABCDEF

2. % AFDCEB

3. % FEADCB
4

§

<>

.~ DCEFBA

Question Number : 87 Question Id : 630680700064 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Here are 4 out of the 7 steps for measuring blood pressure. The steps marked A,B,C and D are shuffled. Rearrance them in the correct sequence.
A: Listen for your pulse: Using a stethoscope, listen for the pulse in your arm's brachial artery.

B: Position the cuff: Place the cuff around your bare upper arm, one inch above the bend of your elbow. The cuff should be snug but not too tight,
and should be against your skin, not over clothing.

C: Inflate the cuff: Pump air into the cuff to tighten it. You should feel tightness around your arm.

D: Deflate the cuff: Slowly release air from the cuff while listening for when your pulse disappears. This is the systolic pressure.

Options :

1. ¥ BCAD
2. ¥ CABD
3. ¥ ABCD
4. ¥ DCAB

Question Number : 87 Question Id : 630680700064 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
g1 IS A0 F o 7 7§ 4 RO RT TR A, B, € IR D Rfgd =Roll 51 sga o mn 1 3% et A & 4 afRua |
A: 3O G G RURD Y BT FUAN DX P, (U dig DI a1 YT & 18! I
B: & HI - mﬁmwmm’séﬁmm STl DIgeil & Al U T 59 HUWR W | B SRTHGHD 5I-] AU dich sgd
TT3e el AT IR, 3R SMUWT @l IR I TRy, BUs! & SR el
C: B DI HANl: B Bl HH & Y IGH gd1 HR | YS! 30 g b U SThed Hegd gl diiet|
D: $ $I g1 §: 96 ATYD! TS TG 51 o ol GAd I $ 4 g1 31 4R-9R B | 78 Reifers eama g
Options :
1. BCAD
2. ¥ CABD
3. % ABCD
4. ¥ DCAB

Question Number : 88 Question Id : 630680700045 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Given below diagram illustrates a healthcare worker donning and doffing personal protective equipment. Show the correct order.

WR@_SDII’_afOrF |

Options :
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1. 91,2345
2. 413,52
3.94231,5
4.9 41235

Question Number : 88 Question Id : 630680700045 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
I AU TTT 3G ® U WS T B1 AR YR&M SUHRU g SR SaRd U faam a1 31 el %H feand |

Options :

1. 91,2345
2.<74,13,52
3.9423,15
4. 94,1235

Question Number : 89 Question Id : 630680700073 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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In the provided diagram, recognize the type of suturing that is intermittent.

Options :

1. <7 Only A

2. ¥ BothAand B
3.9 OnlyB

4. ¥ BothC and D

Question Number : 89 Question Id : 630680700073 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fau e o , 39 ¢t & UPR &I Uga sl SIaRia g
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A B C D

4y \ s
N =
N
. '\\‘
2
NN
/:\\\ \

\
AN
N \

Options :

1. HAAA

2. 8 AR BEH!
3. % Had B

4. % C AR DEF

Question Number : 90 Question Id : 630680700049 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A 30-year-old woman gives birth to a healthy baby boy. During the third stage of labor, the midwife observes that the placenta is not delivered
within 30 minutes. The patient has no known allergies, and her pregnancy has been uncomplicated. What is the most appropriate next step in
managing the third stage of labor?

Options :

1. & Wait for spontaneous placental delivery
2. % Administer an oxytocin injection.

3. ¥ Perform controlled cord traction.

4. % Start immediate manual removal of the placenta.

Question Number : 90 Question Id : 630680700049 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

TS 30 AIg AR U W RIY A0S HI o 1| UHd F TR TR F GRM, T @] & 19 30 e & iR =1 &1 79 781 gen
B1 7 B 1 1 Tl LT R, SR I T THIGRI TR KT T 1 TG F SRR =R U H G SUGA SR HEH 1 82
Options :

1. 7 gl ORI T DI Ucllall 3

2. % SRNCRA TR YN 31

3. % Frfa ae ai o1

4. % WRIET B IehTa A-gSMd ¥0 4 FaTer = o3|

Question Number : 91 Question Id : 630680700050 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Match items in Column A with items in columns B.

Column A - Neonatal Assessment | Column B - Description

Components

1. Apgar Score A. This looks at how far the baby's knees
extend

2. Ballard Score B. In-depth examination of the newborn's
physical characteristics within the first 24
hours of life

3. Newborn Physical Examination | C. Assesses the infant's neuromuscular
and physical maturity

4. Popliteal angle D. Evaluates the infant's physical
condition at 1 and 5 minutes after birth

Options :

1. ¥ 1-A,2-B,3-C4-D
.7 1-D, 2-C, 3-B, 4-A
% 1-D, 2-C, 3-A, 4-B

P

£ 1.D, 2-A, 3-B, 4-C

ENENIS
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Question Number : 91 Question Id : 630680700050 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

HIaH A H 25ed ] BIad B H 5ed I A

Bl A- Tguld Hedi Ucdh

HIGH B - [qa=ur

1. UR TR

A. 3T U =e1dl ¢ [ [RIR] b e fbait
R TP o gU B

2. 918 TR

B. Sila & Ugd 24 el b HIaR Aaulld 1R
3! RN faRwdredl &t T8 i

3. TaTd Iy &1 ARIRSG g

C. TRy 1 U=l 3R IRIRS gRusdl
B ATHaH B §

4. Qiqcited Sluf

D. O & 914 1 3R 5 [iFe # Rig &t
e FRURY T edico dRar @

Options :

1. ¥ 1-A,2-B,3-C,4-D
2. 1-D, 2-C, 3-B, 4-A
3. ¥ 1-D,2-C, 3-A, 4-B
4. ¥ 1-D, 2-A, 3-B, 4-C

Question Number : 92 Question Id : 630680700056 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :
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4/1/24, 3:55 PM

g06.tcsion.com/CAE/viewHtmIPDFAction.action

Match the pair

Column A: Orogastric | Column B: Description or Purpose

Feeding Components

L. Orogastric Tube A. The process of confirming the tube
placement in the stomach

2. Aspiration B. Placing the patient in an appropriate
position to facilitate orogastric tube insertion

3. Verification C. The tube used for administering nutrients
directly into the stomach through the mouth

4. Positioning D. Withdrawing stomach contents to check for
proper placement and prevent complications

Options :

1. ¥ 1-C, 2-D, 3-A, 4-B
2. % 1-A,2-B,3-C,4-D
3. ¥ 1-A,2-D, 3-B, 4-C
4. % 1-B,2-A,3-C,4-D

b

67/76

Question Number : 92 Question Id : 630680700056 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : (
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Sirel BT A B

PIAH A: RAKS | Pl B: AR a1 34
BIST gedh

~

1. RAREDH qd | A. Uc H I8 & RIF I YR HR Bl Uichal

2. 3N B. 3ARNIRCH g STei bl GIH &1 & [T
Al ! I Y A Raen

3. 9@ C. U9 d@l I He s AIga Y g e &
UgdH & fag EREEINER]

4. T =TI D. I I &1 Sid B 3R Siieararadl i
AP & AT e o Iref & aeR Apra

Options :

1.+ 1-C,2-D, 3-A, 4-B
2. 8 1-A,2-B, 3-C, 4-D
3.8 1-A,2-D, 3-B, 4-C
4, % 1-B,2-A,3-C, 4D

§

Question Number : 93 Question Id : 630680700061 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the steps in the correct order for an auditory assessment
A. Sound detection

B. Hearing history

C. Results and recommendations

D. Otoscopy

E. Ear check

F. Word recognition

Options :

1. ¥ ABCDEF

2. ¥ BEFACD

3. ¥V BDEAFC
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4. ¥ BCDFAE

Question Number : 93 Question Id : 630680700061 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
QU] BT P 17T TRON D ot obH H AGRY HY
A. S T Ol ST

B. ¥auI Sfagr

C. aRomm SR RawIiRer

D. SicIp I

E. $H B S

F. Rec YgdH

Options :

. 8 ABCDEF

2. ¥ BEFACD

3.+ BDEAFC

4. 8 BCDFAE

—_

Question Number : 94 Question Id : 630680700067 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following steps in the sequence for the detection of sugar in a urine sample using a reagent strip:

A. Dip the reagent strip into the urine sample.

B. Compare the color changes on the strip to the provided color chart.
C. Wait for the specified reaction time.

D. Record the results.

Select the correct sequence:

Options :

1. <7 ACBD
2. ¥ CABD
3. 8 CADB
4. ¥ BACD
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Question Number : 94 Question Id : 630680700067 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T Rusie Ut &1 IUhRT 9% T & T § b1 1 U1 @ & o i =il @ ow & srafug o1

A. Rgsfe ugt &l 71 & T3 7 gl

B. T8I R A1 UREH &I g fal T8 I A I B
¢. iy ufaferar gma ot udier o3|

D. uRum Repts e

B! HH & T De:

Options :

1. < ACBD

2. ® CABD

3. % CADB

4. ¥ BACD

b

A

Question Number : 95 Question Id : 630680700072 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Put the steps for setting up a nasal cannula for oxygen administration in the correct order:

a) Adjust the flow rate to the prescribed level

b) Secure the tubing behind the patient's ears

¢) Ensure the nasal prongs are inserted into the patient's nostrils
d) Connect the tubing to the oxygen source

Options :

1. ¥ ABCD
2.+ DCAB
3. 8 CDBA
4. ¥ CDAB

§
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Question Number : 95 Question Id : 630680700072 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : (

SIS YR P T SRS YA @7 & <RI 61 el o6 H H I

2) TAT8 &3 B! HeRd TR IR IHEIT &3
b) AN & B P U oId DY JRI&A
o) G &3 o Aora Ui 9t iiiepT 7 Sra MU ¥

d) [T B SHTRITT Hid Y e dY

Options :

1. ¥ ABCD

2.« DCAB

3. ¥ CDBA

4. ¥ CDAB

Analytical and Communication Skills

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null
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Question Number : 96 Question Id : 630680699733 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.
Orange : Fruit :: Cabbage : ?
Options :
./ Vegetable

<>

2. = Color
3. ¥ Seed
4. % Root

Question Number : 96 Question Id : 630680699733 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

I e 1 90 Y S R a2 I I TR 3 e § R TR 3 3R Uee U8 Weg I e 31
TR B = T 2

Options :

1. 7 Fesll

2.8 30

3.9

Eic|

A

©

Question Number : 97 Question Id : 630680699723 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, if TRAMP is coded as "USBNQ', NOISE is coded as OPJTF then what will PICKLE be coded as?
Options :

. % QIDLFM

2. ¥ QDJLMF

3.+ QIDLMF

4. ¥ QJLDMF

—
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Question Number : 97 Question Id : 630680699723 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e (¥ Bis yrwr §, afd TRAMP ®1'USBNQ' & &Y § SIfSd far 7T 8, df PICKLE 61 Y Sifsd faar s
Options :

. ¥ QIDLFM

2. ¥ QDJLMF

3.7 QJDLMF

4. ¥ QJLDMF

Question Number : 98 Question Id : 630680699722 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Six people Gargi, Mina, Lokesh, Abha, Chinu, and Sourav are sitting on a circular table facing towards the centre. Chinu is an immediate
neighbour of both Gargi and Lokesh. Abha sits to the immediate right of Mina. Gargi is neither an immediate neighbour of Sourav nor Mina. Who
sits to the immediate right of Abha?

Options :

1. ¥ Sourav
2. < Gargi
3. ¥ Lokesh
4

. 8 Chinu

Question Number : 98 Question Id : 630680699722 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

. AT T, o, e, e, i SR R Fg Bt 3R T IR U MR 36 R 98 &1 9, TRiF 3R A & Sl S H da18)
ST, HiHT & Yo Hcad S 93t g1 T A < IR 3R A1 €1 HiH1 1 S §1 3T & Fvead i #f & 961 82

Options :

1. % IRd

2. 2 Twff

3. % by
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4. % iy

Question Number : 99 Question Id : 630680699247 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following is the appropriate closing for a letter to one's colleague?
Options :

. ¥ Lots of love

./ Regards

2
3. ¥ See you soon
4

—

. Thank you in anticipation

Question Number : 99 Question Id : 630680699247 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the appropriate closing for a letter to one's colleague?
Options :

1. ¥ Lots of love

2. 7 Regards

3. ¥ Sec you soon

4. ¥ Thank you in anticipation

Question Number : 100 Question Id : 630680699254 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which one is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ COLLABORASION

2. ¥ SEQUEAL

3.+ TONSURE

4, ¥ GRAMMER
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Question Number : 100 Question Id : 630680699254 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which one is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ COLLABORASION

2. ¥ SEQUEAL

3./ TONSURE

4. ¥ GRAMMER

¢
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